[image: image1.png]7. (6-10) Using the 64K x 8 RAM chip shown below plus a decoder, construct the block
diagram for a 256K x 32 RAM
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6-14) Tabulate the truth table for an 8 x 4 ROM that implements the following four Boolean functions: 

A(X,Y,Z) = ∑m(3, 6,7) 

B(X,Y,Z)  = ∑m(0,1,4,5,6)

C(X,Y,Z)  = ∑m(2,3,4)

D(X,Y,Z)  = ∑m(2,3,4,7)

SOLUTION: 
	X
	Y
	Z
	A
	B
	C
	D

	0
	0
	0
	0
	1
	0
	0

	0
	0
	1
	0
	1
	0
	0

	0
	1
	0
	0
	0
	1
	1

	0
	1
	1
	1
	0
	1
	1

	1
	0
	0
	0
	1
	1
	1

	1
	0
	1
	0
	1
	0
	0

	1
	1
	0
	1
	1
	0
	0

	1
	1
	1
	1
	0
	0
	1


